JER A S R B AR A P EER

2 EAE A AR E R
2) P

T i H A B e
=
1 * E AR 50L
2 BRI 20MPa +5% &% (@ 20C)
3 * A B ifE GB/T 8979-2008
4 * B A =99. 9995%
5 SR TR 1 POLE TR = R E R
3.3 MR BRI ER
2) Hikk
T T H kg i
=
1 = A S o0L
2 AR 20MPa +5% &k (@ 20°C)
3 K A B GB/T 4842-2017
B G Al =99. 999%
5 SR HTR 1 R R = TR E R
BN
3.2 mAESAFE AR K
2) BH%
T B gE| kg H/E
=
1 * = AR 50L
2 BRI 20MPa +5% /1% (@ 20°C)
3 * A A =99. 9995%
4 SR TR 1 POLE BRI R R
3.3 mAE AR bR EE R

2) A%

F .

L HiH Fw% #E

=

1 * 5 4w = 50L

2 SRR 20MPa +5% JEAHFE (@ 200C)




3 b, i =99, 9995%

4 KR TR 1 BT BRFUE = i AR

AIH Z TR AT 5 18 N H Wi, F R N B 7 kAL 62 .
FEPRUE R TR ZEK 22 2025 429 H 3 H 9:30 (CAERIITED 5
PERAFAE 4 % 1 E IS A ZE K 22 2025 4F 9 H 3H 9:30 (ALREISED)
FEFRE 8] 5 IE A 2025 42 9 A 3H 9:30 (AbE{HTE])




